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Which of the following is not an inflow of cash . .
A Sale of fixed asset B.  Issue of debentures for cash

C.  Funds from operation D.  Acquisition of assets

Increase in the amount of bills payable results in----------
A.  decrease in cash B. increase in cash
2 no change in cash ) none of these

A bank reconciliation statement is prepared to know the causes for the differences between:

A. The balances as per cash column of ~ B.  The-balances as per bank column of cash

cash book and the pass book book and the pass book
C.  "The balances as per bank columnof D.  None of the above

cash book and cash column of cash

book

“Business unit separate ar__afStinct from the owner or. ”, is based on:

A. Money measur

ent .~ B. Going\ “ncern concept
C. Business en’ o

concept D Dual‘aspe. t concept

........... is an ex /mple for fictitio.  fset..

A.  Machine S

C. - Patent . I minary e> penses
....... are liabiliti s which t nd d.

A Fixed lial Vities B ilities.

within a period of four months, “e balance sheet as on March 3’ Sshould indicate the assets at their:
A. Historical cost r t realisable value ’

C. Cost less depreciation D.  Costpricc or market value whichever is less

A company offers to the public 10,000 sharcs for subscription. The company receives application for 12,000
sharcs, If'the shares are allotied on pro-ata basis, then applicants for 12,000 shares arc to be allotted as:

A. 4 shares for every 5 shares applied.  B. 2 shares for every 3 shares applied.

o4 5 shares for cvery 6 shares applicd. D. 3 shares for cvery 4 shares applicd.

B sold 50 televisions at Rs. 15,000 per television. He was entitled to commission of Rs. 500 per television

sold plus one fourth of the amount by which the gross sale proceads Tess total comniission there on exceeded
a sum calculated at the rate of Rs. 12,500 per television sofd. Amount of commission will be --

A. 45000 B. 50,000

C. 40,000 D. 35000
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10, The following information pertaing to X Tt :(1) Equity share capital called up Rs. 10,00,000; (2) Calls in

amrear Rs. 50,0003 (3) Calls in advance R, 20,000, (4) Proposed dividend 10%. The amount of pm;xmd
dividend payable is -

A. 95,000 B. 90000
. 98,000 D.. L0000
11, Economic life of an enterprise is splitinto the periodic intervalasper __ Concept
A. Money Measurement B. Matching.
53 Going concern. D. Accrual

12. A purchased goods costing 2,00,000, BB sold 4/5th of the goods for Rs 2,50,000.Balance goods were taken
over by B at cost less 20%. If a same set of books is maintained, find out profit cn venture.
A. Rs. 82000 B: Rs .90000
C. Rs. § D. 60000

13, Anoldmachine/was purchased for Rs. 60,000. It was repaired for Rs. 5,000 and Rs. 5,000 paid on its
installation. Machinery repairs a/c wi"
A. 10,000 . . 3 ;
C. 15,000 By . 70,000

14.  Dividends are usus’
A. Authorised shr
C.Pad up 'capit:

capital - b, e
N, Called ital

15. Liability for t M discountedisa _
A. Current lia \ility
C. Fixed liabii

16. Whatis the effect ' acompany’s balance sheet of issuing bonus shares?
A. the bank balance ‘will bein fra ) \/ | | 2\ _BJ “ﬁm & labilitir
C. the reserves will be ., uced D. the capltalv reduced

17. A Company wishesto eama “% orofit margin on selling price. W' of the following is the profit mark

up on cost, which will achicve the i

A.33%. . B. 25%.

C.20% . D.30% '
(8.  If Average Stock = Rs 12,000. Closing stock is Rs 3,000 more than opening stock then the value of closing

stock will be:

A. 12,000 B. 24,000

C. 10,500 s D. 13,500
19.  'The expired portion of capital expenditure is

A. Assel 13. Liability

C. Fixpensc D. Income

AMSSL SETA _ i 2O
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20. A companyissued Rs. 100,000 15%Debentures at a discount of 5% redeemable afler 10 years at a

* premium of 10%. Loss on issue of debentures will be: ‘
A.Rs. 15,000 .B.Rs. 12,000
C. Rs. 10,000 D. None of the three

21, Amanager gets S%commission on sales, cost price of goods sold is Rs. 40,000 which he sells at 2 margin of
20% on sale. Manager Commission will be:
A.Rs. 2000 B.Rs. 2500
C.Rs.2800 D. 3000

22. Aloan due for repayment in 20 months time has been included as a current liability. What will be the
ffect when this is corrected? ‘ ' :

. increase net assets B.  increase net curent assets

- C. no effect on net current assets : D. reduce net current assets

23.  WinLtd. issued 20,000, 8% debenturec ~~™__~
_. years at a premium of 20%. TF
every year will be
AL 40000
C. 2000

- at par, which are redeemable after 5
ount of loss.on redempun.~ of debentures to be written off

| B 10000 -

n 0NN

24.  Debenture Carr jng charge on paitic

asset of the comp: known as
A. Fixed -Mortg
C. Naked floatir
25. Companies pr fit divided among sh- ‘ders lled \
A. Interes
C. Dividen - D. surplus

ital is-Rs. 30,000

26. A and B are partn\ s sharing{rpth‘vlu] Pg«\§ il [t}J ,':!« ]x\;_% i‘. A’sT
share of profits to

and B’s Capital is Rs '15,000). They admitted C and agreed to give 1’
him. How much C show. " bring in towards his capital?
A. 9000

C. 14500

27.  Mr. Prakash sells goods at 20% above cost. His sales were Rs. 10,20,000 during the year.

However, he sold damaged goods for Rs. 20,000 costing Rs. 30,000. 'T'his sale is included in
Rs. 10,20,000. The amount of gross profit is :

A. 190000 B. 250000 T
C. 240000 =D. 200000 - *
28.  Goods costing Rs.100000 are consigned at 20% on invoice price. What is its load?
A. 125000 B. 25000
C. 75000 D. 20000
AMS8/1  SETA 2017
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29. \Yhal is the .rale of depreciation, under straight line method when cost of machine is Rs
105000, residual value Rs 5000 & useful life is 10 yrs?

' A. 26% B. 26.5%
C.  95% | ‘D 10% )
30. indicates the amount which the proprietor has invested in the firm

A. Asset B. Liability

C.  Income D.  capital

31. Choose the correct altenative which can be substituted for the given word in the bracket to
make the sentence meaningful.

The seniors (apology) for their rude behavior with juniors.
A. ?pologetic - B.  apologising
C. Iépologized D.  Apologetic

32 Rearraﬁge the following parts (1,2, 3 and 4) in proper sequence to obtain a correct sentence.
1. pending because it wasn’t - .
2. Too many cases still lie
3. is the convict -
4. confirmed that the Accused rezlly

A. 2 1,4,3
B g, R ]
33.  Select the correct spelled word
A dilogue
C. dilouge

34, Choose the appropri. e meani3g,of * e"l]igm/phrasc
Caught between two S Is jo\\("l \ ! J} “\ _;
A. met with an accia. t

e struck in a calamity

35.  Fill in the blanks with appropriate preposition ' »
a family which has a passion playing cricket.

He comes
A. {from, in B. off, for
C. of, in D. of, for

: 1 H e e H . rd -
36. Choose the pair of words which have 3 similar relationship to that between the given pair of worcs

If Charles Darwin is 1o biologist, then Archimedes is 10

hA. mathematics B. sociology
e literaturc D. Religion )
37, Pick the word/phrase which is most nearly opposite In meaning to given word: MAJESTIC
A. inferior B. magnificent
i) royal D. splendid
i 2017
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Which institution has topped the Times Higher Education (THE)’s Asia University ranking 2017 |

A. Peking University, China ‘ B. Indian Institute of Science, Bangalorc

C.  National University of Singapore - D. IIT Kanpur -

Who of the following took charge as new deputy Chief Ministers of Uttar Pradesh? -

A.  Lalji Tandon and Sangeet Som B.  Anil Rajbhar and Manoj Sinha

C.  Keshav Prasad Maurya and Dinesh D. Kalraj Mishra and Bhupendra Singh
Sharma Chaudhary

Which city has become the first Indian city to offer 1Gbps wired broadband internet service?

As Chennai _ B. Hyderabad
& Bangaluru , D. Kochi

41, Who will be the Chairman of the new entity formed by the merger of Vodafone & Idea ?
. Kumaramangalam Birla Aditya Birla
C. Ratan Tata “~of these
42 Under what brand nam fdoes Salman I_I propose to launch a rang. ‘of smartphones in India ?
A. Being smart i “aj Y
C. Hello
43.  Which accountin; [firm that handles th
opening the wrorn | envelope for best.p
A. PWC S
C KWC
44.  Which company has ued thie rJa' ir 0*'”” s [F 2 ‘,"""]"ic “t.chows ' £ir brand of footwear as a
downmarket brand ? - J! {
A. Bata
C. Redtape
45. Who has been appointed by the govt ast frman of SEB1 ?
A. Ajay Tyagi B. Vijay Tyagi
C. Alok Kumar D. Bimal Jalan
46.  Under what brand name will Hindustan Unilever launch FMCG products to take on the challenge
of Patanjali ?
A. Ayush B. Paras
A Nature - D, Pavitra ;
47 Which international airline will invest in a 100 % foreign owned airline in India, a first afler the
hange in policy 7 ]
f\ e Qa‘l)ar Airways 3. British Airways
C. | ufthansa n. None of these
SET A 2017 |
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48.  What is the n: i 't g
A Vl‘:/\n](";\c given to the digital payments litcracy campaign of Govt of India ?
C. DI‘CIK B.  NASAKA
' A D.  LIPIKA
49. ‘:\thh country announced demonctization after India but has now withdrawn after chaos ?
. Venezucla B. Nepal
C. Bangladesh D.  Nigeria
50.  Entrepreneurship program conducted by which ¢-learning provider has been approved by “Startup
India” as the official programme ?
A, UpGrad B. Liquid
C. EDX D. Courser :
Sl. \ Marketing focuses on the needs of
}!' A. Shareholder’s wealth B. Producer
G Retailer D. Customer
52.  A'PEST analysis is an ar’, ;
A. external macr #nvironmen* B. external. “icro-environment
ér internal m &fo-environment D. internal mic ‘9-environment
53. Market segmer Ation is thé identifi arket th: \are
-A. differe t from one another to one ar. )ther
C.  opposi € to one another ' these
54. In which state § Airtel pi ?
A. Rajasth.
C.. Bihar
Jay) AJn STV
55. Coordination betwe. different epa ents att s ‘fCVCl in 7 £hain of command is called
A. Vertical coordin, tion B. Horizor of coordination,
C.  Organization coorc fthe above
56. A Likert scale is, ‘
A. Semantic Scale B. Semantic Differential Scales
C. A Summated Instrument Scale D. Thurstone scales
57.  To know degree of association between variablcs, one nceds to undertake,
A Chi-square test B. Non parameter test
C. Correlation test > D. Testing of cquality of Means and Variances
58.  Grapevine is created in an
A.  Formal organization B. Informal organization
C.  Free organization D.  Multi-level organization

AMS8I1 - SET A _ ‘ 2017
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59. A good budget is

A.  Fixed B. Rigid

C.  Flexible D. Liked by all i
60.  Select the option that is not an important source of international finance-
‘ A. Forward contract B Eurocurrency loans

C.  Eurobonds D. Depository receipts
61. Which among the following is not a component of planning

A.  Policy B. Budgets

C. Procedures D. Compliances
62.

Bonds that are sold outside the country in whose currency they are denominated
A Eutobonds

C. Yainkee bonds
i

63.  The view that the exct ge rate between the currencies of tw ~ countries equals

A. Internatior #fisher effect_' ‘B. 'Purchasink
C. Interest r fe parity

B. Foreign bonds
Samurai bonds

s
‘.

Wer parity

and future spot rates

64. Therateatwt [ch a currency can |

A.  Forw: | exchange rate
555 Spot kchange rate

=

65.  Those particip. \uts in foreign exchange market that seek to earn risk fess profits
A. Hedgers

: el Ess
C.Arbitrageurs | A\ 1A\ I?IJ-.?,L\\,,;!

66.  Determining optimum pital structure is-
A. An investment decisig B. A ©_aficing decision
C. A dividend decision - A liquidity decision
67.  Select the correct statement about Profit Maximisation-
A. It ignores the timing of retumns B. It is quite accurate ;
C. It takes in to account risk D. It dues not assume perfect competition
68.  The change in the sharcholder’s retum caused by the change in the profit is called
A. Operating leverage B. Financial leverage
C. Risk —return trade off D. Profit planning
69.

Select the incorrect statement -

A. Dividends rate for ordinary sharcholders  B. The payment of dividends to sharcholders is
is not fixed

C. Ordinary sharcholders are generalty
called owners of residue

u legal obligation

D. Preference sharcholders receive dividend at
fixed rate

AMS8/1 ‘ . SETA oo
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70.  Which of these is not a financial asset?
A. Bonds B. Lease obligations
C. Skares D. Patents
71. Financial decisions of the firm are guided by
A. Firm’s wealth B. Risk-return trade ~off
C. Retention ratio D. Financial leverage
72. The change in profit due to the change in sales is referred 0 as ,
A. Financial leverage B. Operating leverage
C. Profit planning D. Dividend-payout ratio .
73.  The expected rate of return that an investor could earn by investing his money in
financial assets of equivalent risk is called.
A. Retention ratio : —payout ratio '
C. Optlmum capital struct D. Opportunity., st of capital
14 isa planned‘ ort to enablewm'ployees to learn job-rela 4 knowlcdg,e Skl”S and
behavior.
A. Selection
C. Trammg
75.  When a graup Mf empIOyees and ist
problcms and so \tions it is
A. managem
C. production \ performance circ’
76. A need to discover wh twe a)e a d t Mvelg A1£ g.lll(’.‘ﬁt potent’ A refers to
A. growth needs ; B. self-actu~’#ati
C. esteem needs D. s0ci”
77. Communication serves four major functions within a group. Which one is not a part of the
four functions? :
A. Information ' : B. Nepgotiation
C. Motivation - D. Control
78.  Which of the following strategies could be used to make the practice of HRM more cffective ?
A. Inducing work measurement B. Conducting a productivity audit
C. Improving employee motivation D. Introducing new technology
79.  Which of the followil;g refers to the process through which an organization seeks applicants ;
for potential employment ? .
A. Orientation B. Sclection :
C. Recruitment D. Work analysis :
é
f
- AMS811 - ‘ QRT A
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80.  Which of the following emphasises on ‘to do what you are best at and leave all other non-
value-added activities to more suited players’ ?
A. Core management B. Core competency
C. Core production D. Core capacity
81.  Which of the following tests is the simplest and most widely used non-parametric test ?
A.  Chi-square test B.  Signtest
C.  Wilcoxon matched paired test D.  K-Stest
82.  If everyone who is faced with a similar situation responds in the same way, attribution theory
states that the behavior shows
A. consensus B. similarity
C. reliability D.  consistency
83.° In order to find the degree of rel»* - +a use a statistical test called
A.: t-test B. anova™.
C. chi-square test . _| - . D. Pearson’s cu elation
84. Sudh.ir.is conducf Ag an interview. * '"*-- --'~ -~ -*ve for hi. ‘organization. He needs to
know about the ;sona'li'ty-of the ing me Yods would he use ?
A. Physical ' kamination 1ce checl
C. Psycholc jical test nterview
85.  The industrial felations activity of
A. recruiti \g, intervi ce handlin § contract
negotiations
C. trahsfer, \ \tminatio \ l'_‘ ' , lca\der;hip, mo' #ation
\e : ‘ - r
86.  The human relation. *is an outsmé Jt]lhe}amous!stgcb Known as
A. Organizational st ly - B. Ement study
C. Scientific study thorne study
87.  The process of ensuring that emplo outputs match the organization's goals
is called:
A. job analysis _ B. strategic management
C. employee development D:: performance management
88 The HR function of involves acquiring knowledge, skills, and behavior that improve
employees' ability to meet the challenges of a variety of new or existing jobs, including the
.client and customer demands of those jobs. '
A recruitment . B. personnel policy
C. development D. employece relations
89.  The fund available with a company aficr paying all claims including tax and dividend is
called: i -
A. Retained earning B. ()ime P:;O 'TM
C.  Operating profit D. Profit after 12 :
2017

- AMS8/1
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The term totg] cost used for the

. : purpose of determining economic order quantity consists of
carrymg cost B. ordering cost
C. both (a) and (b) above D. fixed cost

Inventory refers to the aggregate of those items owned by a firm that

A. are held for the purpese of making sales  B. are in the

! ‘ process of production for such sale
to customers in the ordinary course of
business

C. areto be currently consumed in the -

production of goods to be available for
sale

D. all of the above

The statement that shows the cause of change in the financial position of an organization is
known as

A. balance sheet

_ B. funds flow statement
C. statement of financial position

N none of the above

- 93, Balance sheet is a stater_afWhich discloses an organization’s-
A. assets : l B. liabilities
C. owner’s equit oo D. all of the above
94.  Current liabili
A. within onr eyond o counting c tle
C. within th ge years within si nths
95.  The assets t} |t are expec’
known as
A:intangible . . B. current asscts
C. fixed assets \ e L | Be s ®ove
: JAWIAN BRI E
96.  Accounting is the an. €recording and summarizing business tro_dCtions according to
A. rules of accounting
C. both (a) and (b) above
97.  The conservatism principle calls for conservative approach on the part of accountant in his
A. estimates B. opinions
C. sclection of procedure D. all of the above
98.  The results of business activities are reflected.in oy .
A. profit and loss account B. profit and loss appropriation account
C. balance sheet D. none of the above
99, 'The matching principle attempts to find satisfactory bases of association between .
A. assets and liabilities B. expenses and revenues
C. internal cquitics and external liabilities 1D, none of them
AMS8/1
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100. According to accounting equation
A. assets are equal to liabiliti-
C. assets are equal to eq,

.
->

JAWIA Dlpdl Y e
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